Model Prediction (P3)
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P3 (plot by DAT)

o
1
~-o
* | 8
" L
I 1 —
L al
o T
1 1!
1 1!
I
1 1!
-@ | 1!
____
0 11!
%_r “ ! ““ |%
rv._m.o_ “ L -9
c O 1 o1 L
e T 1 1 |
SRR ?
m-mdngnEdnbobeommm oo ey
1 1! e -9 1
1 (L lg |
1 _““ __
o -
I
“ ““ s  JU I =
L o
o R
LT % ! 4
. ol T
[ I
1 I o ——
A e Tt
_ AR
1 r._ |- === 9 | ©
| o Mg ¥
|||||||||||||| _ Si====9)
* 9 &
1 =1 11
% 2 R
o & | °
1 [
1 0
1 w0
“ 2
I el ______
_||||0A_ ° =)
[ N
| 1
1 1
“ |
pTTTTTT *
1
1
1
1
I 2
“ S
I S
e e e e e e e ..Blo
o o o o o
0] [(e] < (gl

Buippng a1y sAeqg

Days After Transplant



P3 TsN1 (plot by DAT)
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P3 TsN2 (plot by DAT)
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P3 TsN3 (plot by DAT)
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P3 TsN4 (plot by DAT)
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P3 TsN5 (plot by DAT)
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P3 TsN6 (plot by DAT)
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P3 (plot by adjDAT)
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Days After Budding

P3 TsN1 (plot by adjDAT)
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P3 TsN2 (plot by adjDAT)
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P3 TsN3 (plot by adjDAT)
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P3 TsN4 (plot by adjDAT)
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P3 TsN5 (plot by adjDAT)
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Days After Budding

P3 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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